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Codeforces Round #699 (Div. 2)
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E. Sorting Books
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const int MAXN=5e5+5;
int a/MAXN!,dp/MAXN|, L/MAXN|, rMAXN|,c/MAXN];
int main

int n=read int();
_rep(i,l,n)alil=read int();
int i=n;i;i--
1[a[i] ]=1;
I'rlall rialil|=1;

int i=n;i;i--
clali] |++;
dplil=dpli+1];
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i==Llalil])dplil=max(dpl[i],dpirfalil|+1ll+clalil ;
dpli/=max(dplil,clali ;

enter(n-dp ’
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F. AB Tree
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const int MAXN=1e5+5,MAXM= ;

struct Edge
int to,next;

edge MAXN | ;

int head MAXN|,edge cnt;

void AddEdge(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u!=edge cnt;

int sz[MAXN], last|[MAXN], maxd;
vector<int> node[MAXN|,c[MAXN],cv;
bool dp[MAXM| MAXN];
char ans|[MAXN];
void dfs(int u,int d
node[d]|.push back(u);
sz[ul=1,maxd=max(maxd,d) ;
int i=head|u;i;i=edge!i].next
int v=edgel(i].to;
dfs(v,d+1);
szlul+=sz|v];

bool cmp(int u,int v
szlul>sz[v];
int main

int n=read int(),x=read int();

_rep(i,2,n

AddEdge(read int(),1i);
dfs(1,0);

_for(i,0,n

cinodeli].size .push back(1i);
_rep(i,1,n

clil.size()>
cv.push back(i);
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dp =true;
_rep(i,1l,cv.size
int val=cv/[i-1],cnt=c[val].size();
mem(last,-1);
_for(j,0,val
dpli- j
dpli![jl=true,last|[j|=0;

dp i J :false,last J =-1;

_rep(j,val,n

dpli-1]1]
dplil|j|=true,last|j|=0;
last[j-val]!=-1&&last|j-val +l<=cnt

dplil|[j|=true,last[j|=last!j-vali+1;

dplil|j|=false,last|j|=-1;

dplcv.size X
enter(maxd+1);
_rep(i,l,n)ans[i|="b";
int i=cv.size(),j=x;1i;1i--
int val=cv|[i-1],pos=0;
ldp[1i- j
j-=val;
int d=c|val] [pos++];
_for(k,0,val
ans/node/d| [kl /="a"';

puts(ans+1);

enter(maxd+2);
pair<char,int> pl('a',x),p2('b',n-x);
_for(i,0,n
pl.second<p2.second)swap(pl,p2);
sort(node(i!.begin(),node[i].end(),cmp);
_for(j,0,nodeli].size
pl.second
ans/ node(i|j| /=pl.first;
pl.second--;

ans/node(i|[j!|=p2.first;
p2.second- -;
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puts(ans+1);
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